6 5 3 2 1
Timing Diagram for mp 3.2.
Inlet closes Inlet opens
39.0% ATOC 41.0% ABDC
Inlet 178°
Transfer opens Transfer closes
171.5% ATOC 55.5% ABOC
Transfer 117°
Exhaust opens Exhaust clozes
112 .5% ATOC a7.5°% ABOC
Elowdown :
Q.07 Exhaust 135°
MP 3.2
Bore : 16mm
Stroke : 16mm
Displacement : 3.2cc (.19 cuin)
Compression ratio with 0.2 mm gasket : 8.3:1
Glow plug : hot , long reach Designed by Checked by Approved by Date Date
Marek Priplata 17.06.2017
MP 3.2 Glow engine
Edition Sheet
1 3
6 5 3 2 1




| 5 4 3 | | 1
Crankcase (aluminium
( ) Font Bearing (aluminium) A-A(1:1)
9,00 28,00
A ®3,30 10,00
P T I . } | Q r 4,50 ! E& ©10,00 H7
ol LI i~ —
el i 14,00 - S
| | | | = @ 2,50 -6,00% y Y & ‘
‘ ‘ ‘ ‘ ‘ $ ! ! o o 8 8 lLA\‘/V
o ™M Q =3 < S [ A
% N L0 @ ‘ % H ~§ 2
< | 3
S S > ) 7 J
2 B S
| _ @24,00 J 21,00 ‘
Bl nltlton B N A - Fit Bearing 61800
M3x0.5 - 6H
28,00 21,00 E— - 28,00
<
O
»?,%0 20,00
% $ S o
‘% Y ¥
Z A @Y 3
) J g\
o | 7,00
2 8 - | - S _#7.00
[@\l 10/50‘ g
W X ©21,00
2,50 -10,00 ¥ _ M3x0.5 - 6H
©-
2
%
Cylinder Head (aluminium) Cooling fins (aluminium)
@35,00 20,00
Backplate (aluminium) 159
o
Q
23, 7,00 $16,00 o
S s S
VN 2N 8 R
N NZERNS Y —
B Bo S -
= 3 20,00
~ [0 0]
(‘:} o
B di 1/4-32 UNEF - 2B
P e
/? / \‘/( o ‘ I :
@3,30 21,00 0 11,00 | 4,00 s - 2] = .
S @5,70 ) =y 0
BB(1:1) - — ®24,00
?24,00 @3,30
8 Designed by Checked by Approved by Date Date
™M v
“ Marek Priplata 17.06.2017
44,00 MP 3.2 Glow engine
Edition Sheet
2/3
5 4 3 1




\ 5 4 3
Cylinder Liner (steel) Crankshaft (steel)
$22,00 C-C(1:1) 60,00
D 6,00
—— o))
3 30,00 ?6,00 |
| - S 300 -
= o | — S
| 3 | . 0,30 ST d @
5,50 3 S | ———r
3,00 < I} 0
‘ 5 : © 15,00 i
S ‘ | Bl [ ] 800 L1100 700 B F_. 37,00 -23,009
w‘ | q | L <——y—‘<— q
N | J S 23,00
A8
‘ D
+ 0,065
c L 216,00 | 9050
@20,00 Piston (cast iron) Wrist pin (steel Conrod (aluminium)
£ 29,00
E - ?16,00 ®4,00 H7 15,00 QOY o®
O
=1 T - ] N
N all 913 =3 - @500H7 A o~ P4,00 H7
7 N Ry 2 6,00
8 I 22,00
7o)
[ @11,00 8 8
LN <
‘ @15,00 35,50
E L venturd (aluminium) Spray bar (brass) Needle Thimble (brass)
30,00
®4,00 20,00 350 15,00
Prop Driver (aluminium) 17,00 ’
N FF(1:1) Hﬁ 1 s ) )
- : - _ 1 _ Ae _ _
G - G e ‘ *
10,00
o
18 I A
~ (] .
ST HH(2:1) F(2:1)
#10,00 17,00
2 2
S GG(2:1) ] ssss (orrrrrrs ) s = g
a 77771V ZI N
F - R ! 31,00 -
0 | 1
T T IZ ~ 5050 | 11,00 M4x0.5 - 6H
. o - M4x0.5 - 6 | 5,00
Needle (steel wire) < - _ 1 |
[
10,00
‘ Designed by Checked by Approved by Date Date
| L I-C:i{: @4,00 00 Marek Priplata 17.06.2017
56,00 © : MP 3.2 Glow engine
Edition Sheet
3/3
5 4 L 3 2 1



